SOLICITATION/CONTRACT					1. REQUISIT	TION NUMBER DULE			PAGE 1	OF	76
2. CONTRACT NO. HDEC04-13-C-0030	3. AWARD/EFF 01-May-201		4. ORDE	R NUMBER		and the second s	12-R-0070		SOLICITAT 0-Aug-2		E DATE
7. FOR SOLICITATION INFORMATION CALL:	a. NAME PAMELA H.	JACKSON					NE NUMBER (No C	۱ ۵	OFFER DU 4:00 PM		OCAL TIME 2012
9. ISSUED BY	CODE	DEC04		10. THIS ACQU			11. DELIVERY I	383337 (838)	2. DISCO	UNT TER	RMS
DEFENSE COMMISSARY AGENCY SUPPLY & EQUIPMENT DIVISION BUILDING P 11200 1300 E AVENUE FORT LEE VA 23801-1800	_			X SET ASIDE X SB HUBZO 8(A)	: 100 % NE SB	6 FOR	BLOCK IS MARI SEE SCHE  13a. THIS O UNDER DE	KED		ORDER	
TEL:				SVC-DIS		T-OWNED SE	14. METHOD O	F SOLICITATIO			
FAX: (804) 734-8269/8886				SIZE STD: 7M		ICS: 811310	RFQ	IFB	Х	RFP	
15. DELIVER TO	CODE			16. ADMINISTE	RED BY			COD	E		
SEE SCHEDUL	.E				SEE	ITEM 9					2*
17a.CONTRACTOR/OFFEROR	(	ODE 39ZN		18a. PAYMENT	WILL BE	MADE BY		COE	E HQ0	131	
INTERSERV MAINTENANCE MANAGEMENT SOLUTIO THEODORE KELLY 1305 BARNARD ST SAVANNAH GA 31401-6746				DFAS-WIDE / DFAS - CVD/ P.O. BOX 369 COLUMBUS 0	AAA/CO 9016						
TEL. 912-236-4838 EXT.102	co			LOL OUDLET	W 1010E0	TO A DDDD	CO COLOMALIA E	OCK 19a I	INII EQQ I	RI OCK	
17b. CHECK IF REMITTANCE IS DIFFERENT AND PUT SUCH ADDRESS IN OFFER				18b. SUBMIT BELOW IS CH			SS SHOWN IN E DDENDUM	SLOCK Toa. C	INLESS I	BLOCK	
	20. SCHEDU	LE OF SUPP	LIES/ SE	RVICES	2	1. QUANTIT	Y 22. UNIT	23. UNIT PR	RICE 2	4. AMO	UNT
	Ş	SEE SCHI	EDULE							2	2011)
25. ACCOUNTING AND APPROPRIAT	TON DATA						26. TOTAL	AWARD AMOL	JNT (For	Govt. Us	e Only)
See Schedule									\$2	240,728	.80
27a. SOLICITATION INCORPORA  27b. CONTRACT/PURCHASE OR									님		ATTACHED ATTACHED
28. CONTRACTOR IS REQUIRED TO SIGN THIS DOCUMENT AND RETURN TO ISSUING OFFICE. CONTRACTOR AGREES TO FURNISH AND DE SET FORTH OR OTHERWISE IDENTIFIED ABOVE AND ON ANY ADD SUBJECT TO THE TERMS AND CONDITIONS SPECIFIED HEREIN.			LIVER ALL ITEM	ns	OFFER DA	CONTRACT: RE TED INCLUDING ANY I HEREIN, IS AC	. YOUR OF	OR CHAN			
30a. SIGNATURE OF OFFEROR/CO	NTRACTOR			31a.UNITE	O STATES C	F AMERICA	(SIGNATURE OF C	ONTRACTING OF	FICER) 3	lc. DAT	E SIGNED
				-	<u></u>	-				01-Ma	ay-2013
30b. NAME AND TITLE OF SIGNER		30c. DATE	SIGNET	O 31b. NAME	OF CONTRA	ACTING OFFIC	ER (TYPE	OR PRINT)			
(TYPE OR PRINT)						L / CONTRACT	SPECIALIST EMAIL: D	iana.Gross-Be	endall@de	eca.mil	

SOLICITAT	ICITATION/CONTRACT/ORDER FOR COMMERCIAL ITEM (CONTINUED)				MS					PA	GE 2 OF 76	
19. ITEM NO.			20. SCHEDULE OF SI	JPPLIES/ SERV	/ICES		21. QUANTIT	Υ	22. UNIT	23. UNIT P	RICE	24. AMOUNT
19. ПЕМ NO.			20. SCHEDULE OF SI		/ICES		21. QUANTITY	Y	22. UNIT	23. UNIT P	RICE	24. AMOUNT
32a. QUANTITY IN	=	_	BEEN 1									
RECEIVED	INSPEC	TED _	ACCEPTED, AND CONF	ORMS TO THE C	ONTRAC							
32b. SIGNATURE O		ORIZED	GOVERNMENT	32c. DATE		32d. PRINTED NAME AND TITLE OF AUTHORIZED GOVERNMENT REPRESENTATIVE					Т	
32e. MAILING ADD	RESS OF	AUTHO	RIZED GOVERNMENT RE	EPRESENTATIVE	1	32f. TELE	PHONE NUMBER	R OF	AUTHORIZE	D GOVERNM	ENT RE	PRESENTATIVE
						32g. E-MA	IL OF AUTHORIZ	ZED G	GOVERNMEN	NT REPRESE	NTATIVE	:
33. SHIP NUMBER	. 3	4. VOUC	HER NUMBER	35. AMOUNT VE		36	. PAYMENT				37. CHE	ECK NUMBER
PARTIAL	FINAL			CORRECT	FOR		COMPLET	E	PARTIAL [	FINAL		
38. S/R ACCOUNT	NUMBER	39. S	/R VOUCHER NUMBER	40. PAID BY		•						
41a. I CERTIFY TH	IIS ACCO	UNT IS	CORRECT AND PROPER	FOR PAYMENT 41c. DATE	42a. RE	CEIVED BY	(Print)					
AND					42b. RE	CEIVED AT	(Location)					
					42c. DA	TE REC'D	(YY/MM/DD)	42d.	TOTAL CON	TAINERS		

## Section SF 1449 - CONTINUATION SHEET

CIN: HQCCA1222227000000001

ITEM NO 0001	SUPPLIES/SERVICES	QUANTITY	UNIT	UNIT PRICE		AMOUNT \$0.00					
0001	Equipment	FFP Preventive maintenance (PM) and Repair of Miscellaneous Food Processing									
	FOB: Destination										
8				NET AMT		\$0.00					
ITEM NO 0001AA	SUPPLIES/SERVICES  Time - Camp LeJeune  T&M	QUANTITY 552	UNIT Hours	UNIT PRICE \$105.00		AMOUNT \$57,960.00					
	TIME REPAIR FOB: Destination										
	PURCHASE REQUEST 1	NUMBER: HQCC	CA122222700	000							
	TOT ESTIMATED PRICE \$57,960.00										
				CEILING PRICE							
	ACRN AA	200001				\$57,960.00					

Page 4 of 76

ITEM NO 0001AB	SUPPLIES/SERVICES	QUANTITY 17,500	UNIT Lot	UNIT PRICE \$1.00	AMOUNT \$17,500.00				
	Materials - Camp LeJeune T&M	,							
	PARTS								
	FOB: Destination								
	PURCHASE REQUEST N	IUMBER: HQCC	A1222227000	00					
			TOT EST	IMATED PRICE	\$17,500.00				
				CEILING PRICE					
	ACRN AA				\$17,500.00				
	CIN: HQCCA1222227000	000002		·					
YMD3 (3)(0		OLLANITITY	UNIT	UNIT PRICE	AMOUNT				
ITEM NO 0001AC	SUPPLIES/SERVICES	QUANTITY 16	Quarter	\$175.00	\$2,800.00				
0001110	a d		(Time)						
	1M20-A/B/HV Mixer/Grinder, Tand-Cp LeJeun FFP								
	1M20-A/B/HV PREVENTIVE MAINTENANCE QUARTERLY								
	FOB: Destination PURCHASE REQUEST NUMBER: HQCCA122222700000								
	PURCHASE REQUEST I	NUMBER: HQCC	A122221000	00					
		.e€							
				NET AMT	\$2,800.00				
	ACRN AA				\$2,800.00				
	CIN: HQCCA1222227000	0000003							

Page 5 of 76

ITEM NO 0001AD	SUPPLIES/SERVICES	QUANTITY 12	UNIT Quarter (Time)	UNIT PRICE \$269.00	AMOUNT \$3,228.00
	1M18 Saw, Meat, Band Ty FFP	pe- Camp LeJeune			
	1M18 PREVENTIVE MA FOB: Destination	AINTENANCE QU	ARTERLY		
	PURCHASE REQUEST 1	NUMBER: HQCC	A122222700000		
				NET AMT	\$3,228.00
	ACRN AA				\$3,228.00
	CIN: HQCCA1222227000	0000004			
Ŧ					
ITEM NO 0001AE	SUPPLIES/SERVICES	QUANTITY 4	UNIT Quarter	UNIT PRICE \$103.05	AMOUNT \$412.20
OOOTAL	1D12 A Over Determ El		(Time)		
	1B12-A Oven, Rotary, Ele FFP				
	1B12-A PREVENTIVE N FOB: Destination	MAINTENANCE (	UARTERLY		
	PURCHASE REQUEST	NUMBER: HQCC	A122222700000		
				NET AMT	\$412.20
	ACRN AA				\$412.20
	CIN: HQCCA122222700	0000005			

Page 6 of 76

ITEM NO 0001AF	SUPPLIES/SERVICES  1B15 Oven, Mini-Rotary v	QUANTITY 4 v/Proofer-Cp LeJe	UNIT Quarter (Time)	UNIT PRICE \$103.05	AMOUNT \$412.20					
	FOB: Destination	1B15 PREVENTIVE MAINTENANCE QUARTERLY								
				NET AMT	\$412.20					
	ACRN AA	000006		NET AWIT	\$412.20					
	CIN: HQCCA1222227000	000000								
ITEM NO 0002	SUPPLIES/SERVICES	QUANTITY	UNIT	UNIT PRICE	AMOUNT \$0.00					
0002	Cherry Point Commissary FFP									
	Equipment	Preventive maintenance (PM) and Repair of Miscellaneous Food Processing Equipment Base: May 1, 2013 or "Date of Award" - April 30, 2014								
	FOB: Destination									
				,						
				NET AMT	\$0.00					

Page 7 of 76

ITEM NO 0002AA	SUPPLIES/SERVICES  Time - Cherry Point  T&M  TIME RPEIAR  FOB: Destination  PURCHASE REQUEST N	QUANTITY 264 NUMBER: HQCC	UNIT Hours AZ22222700	UNIT PRICE \$105.00	AMOUNT \$27,720.00
	ACRN AB CIN: HQCCAZ222227000	000001	TOT EST	FIMATED PRICE CEILING PRICE	\$27,720.00 \$27,720.00
ITEM NO 0002AB	SUPPLIES/SERVICES  Materials - Cherry Point  T&M  PARTS  FOB: Destination  PURCHASE REQUEST 1	QUANTITY 12,500 NUMBER: HQCC	UNIT Lot	UNIT PRICE \$1.00	AMOUNT \$12,500.00
	ACRN AB CIN: HQCCAZ22222700	0000002	TOT ES	TIMATED PRICE CEILING PRICE	\$12,500.00 \$12,500.00

Page 8 of 76

ITEM NO 0002AC	SUPPLIES/SERVICES  1M20-A/B/HV Mixer/Grin FFP 1M20-A/B/HV PREVENT FOB: Destination PURCHASE REQUEST N	TIVE MAINTENA	NCE QUARTER		AMOUNT \$1,400.00
	ACRN AB CIN: HQCCAZ222227000	0000003		NET AMT	\$1,400.00 \$1,400.00
ITEM NO 0002AD	SUPPLIES/SERVICES  1M18 Saw, Meat, Band Ty FFP 1M18 PREVENTIVE MA FOB: Destination PURCHASE REQUEST N	INTENANCE QU		UNIT PRICE \$269.00	AMOUNT \$2,152.00
	ACRN AB CIN: HQCCAZ222227000	0000004		NET AMT	\$2,152.00 \$2,152.00

Page 9 of 76

ITEM NO 0002AF	SUPPLIES/SERVICES  1B15 Oven, Mini-Rot w/Pr FFP 1B15 PREVENTIVE MADE FOB: Destination PURCHASE REQUEST N	INTENANCE QU	UNIT PRICE \$103.05	A	MOUNT \$412.20
	ACRN AB CIN: HQCCAZ222227000	000005	NET AMT		\$412.20 \$412.20
ITEM NO 0003	SUPPLIES/SERVICES  New River Commissary FFP Preventive maintenance (Find Equipment Base: May 1, 2013 or "Date FOB: Destination		UNIT PRICE Food Processing	A	MOUNT \$0.00
			NET AMT		\$0.00

Page 10 of 76

ITEM NO 0003AA	SUPPLIES/SERVICES	QUANTITY 336	UNIT Hours	UNIT PRICE \$105.00		AMOUNT \$35,280.00
	Time - New River T&M TIME REPAIR					
	FOB: Destination					
	PURCHASE REQUEST 1	NUMBER: HQCC	A322222700	000		
			TOT ES'	TIMATED PRICE		\$35,280.00
				CEILING PRICE		
	ACRN AC	200001				\$35,280.00
	CIN: HQCCA3222227000	0000001				
ITEM NO	SUPPLIES/SERVICES	QUANTITY	UNIT	UNIT PRICE		AMOUNT
0003AB	Materials - New River	12,500	Lot	\$1.00		\$12,500.00
	T&M					
	PARTS					
	FOB: Destination					
	PURCHASE REQUEST 1	NUMBER: HQCC	CA32222700	000		
			TOTES	TIMATED PRICE		\$12,500.00
			TOTES	CEILING PRICE	*	Ψ12,500.00
				CEILING PRICE		\$12,500.00
	ACRN AC CIN: HQCCA322222700	0000002				φ12,300.00

Page 11 of 76

ITEM NO 0003AC	SUPPLIES/SERVICES  1M20-A/B/HV Mixer/Grin FFP 1M20-A/B/HV PREVENT FOB: Destination PURCHASE REQUEST N	TIVE MAINTENA		AMOUNT \$1,400.00
,	ACRN AC CIN: HQCCA3222227000	000003	NET AMT	\$1,400.00 \$1,400.00
ITEM NO 0003AD	SUPPLIES/SERVICES  1M18 Saw, Meat, Band Ty FFP  1M18 PREVENTIVE MA FOB: Destination PURCHASE REQUEST N	INTENANCE QU	UNIT PRICE \$269.00	AMOUNT \$2,152.00
	ACRN AC CIN: HQCCA3222227000	000004	NET AMT	\$2,152.00 \$2,152.00

Page 12 of 76

**AMOUNT** ITEM NO SUPPLIES/SERVICES **QUANTITY UNIT UNIT PRICE** 0004 \$0.00 Seymour Johnson Commissary **FFP** Preventive maintenance (PM) and Repair of Miscellaneous Food Processing Equipment Base: May 1, 2013 or "Date of Award" - April 30, 2014 FOB: Destination \$0.00 **NET AMT AMOUNT UNIT PRICE** UNIT ITEM NO SUPPLIES/SERVICES QUANTITY \$45,360.00 432 Hours \$105.00 0004AA Time - Seymour Johnson T&M TIME REPAIR FOB: Destination PURCHASE REQUEST NUMBER: HQCCA622222700000 \$45,360.00 TOT ESTIMATED PRICE **CEILING PRICE** \$45,360.00 ACRN AD CIN: HQCCA6222227000000001

Page 13 of 76

ITEM NO 0004AB	SUPPLIES/SERVICES	QUANTITY 12,500	UNIT Lot	UNIT PRICE \$1.00		AMOUNT \$12,500.00				
000112	Materials - Seymour Johns T&M PARTS			,		,				
	FOB: Destination			2	*					
	PURCHASE REQUEST 1	NUMBER: HQCC	CA6222227000	000						
			TOT EST	TIMATED PRICE		\$12,500.00				
				CEILING PRICE						
	ACRN AD CIN: HQCCA6222227000	0000002				\$12,500.00				
	CITY. HQCCHO22227000	,00002								
ITEM NO	SUPPLIES/SERVICES	QUANTITY 8	UNIT Quarter	UNIT PRICE \$175.00		AMOUNT \$1,400.00				
0004AC			(Time)	\$175.00		Ψ1,400.00				
	1M20-A/B/HV Mixer/Grinder Tand-Seym John FFP									
	1M20-A/B/HV PREVENTIVE MAINTENANCE QUARTERLY FOB: Destination									
	PURCHASE REQUEST 1	NUMBER: HQCC	CA6222227000	000						
				NET AMT	-	\$1,400.00				
				NET AMT		•				
	ACRN AD CIN: HQCCA6222227000	0000003				\$1,400.00				

Page 14 of 76

ITEM NO 0004AD	SUPPLIES/SERVICES	QUANTITY 12	UNIT Quarter (Time)	UNIT PRICE \$269.00		MOUNT 3,228.00
	1M18 Saw, Meat, Band Type - Seym Johnson					
	FFP 1M18 PREVENTIVE MAINTENANCE QUARTERLY FOB: Destination PURCHASE REQUEST NUMBER: HQCCA622222700000					
				NET AMT	\$	3,228.00
	ACRN AD CIN: HQCCA6222227000000004				\$	3,228.00
ITEM NO 0004AE	SUPPLIES/SERVICES	QUANTITY 4	UNIT Quarter (Time)	UNIT PRICE \$103.05	A	MOUNT \$412.20
	1B12-A Oven, Rotary, Ele					
	FFP 1B12-A PREVENTIVE MAINTENANCE QUARTERLY					
	FOB: Destination PURCHASE REQUEST NUMBER: HQCCA622222700000					
				NET AMT		\$412.20
	ACRN AD CIN: HQCCA6222227000	0000005				\$412.20